Alog(p) a/p

Alog(p)

0.0 0.5

-0.5

-0.001 0.000 0.001 0.002

-0.002

- = AZN PRU
- = BARC RTR
- = CW. .-+ SB.
T = = GLXO --- SHEL
Li-} LLoY voD
- — = ORA == Pool

Shares ¢/c

AZN PRU

BARC RTR
= CW. ~--- SB.

GLXO - -+ SHEL

LLoY VoD

= = ORA === Pool

T T T T T
-20 -10 0 10 20

Shares/<Shares> gzl

Alog(p)

Alog(p)

-0.001 0.000 0.001 0.002

-0.002

-0.001 0.000 0.001 0.002

-0.002

AZN
BARC
CwW.

GLXO - - -

LLoY

ORA === Pool

PRU
RTR
SB.
SHEL
VoD

Shares/<Shares>

I8 £ 3
I . Y
[ BT
. — e -, ?f - AN PRU
bl J - - BARC RTR
- = CW. - SB.
= GLXO --- SHEL
J LLOY VoD
4 — = ORA == Pool
T T T T T
-1le+08  -5e+07 0e+00 5e+07 le+08
Pounds



